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QUESTION 1
How much time is there between 7:45 am today and 3:15 pm tomorrow?
A 75 hours
B. 30" hours
C. 31" hours
D. 32" hours
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 2

B Company ("Bulldogs"), 3rd Battalion, 144th Infantry, is authorized a total of 131 soldiers. However, Bulldog Company
only has 125 total soldiers and officers assigned. Of those assigned, four percent are officers.

How many enlisted soldiers are assigned to the company?
A. 114
B. 123
C. 120
D.121

Correct Answer: C

QUESTION 3

On a map drawn to scale, 1/2 inch equals 1 mile. What length on the map equals 5 miles?
A. 2.5 inches

B. 5.0 inches

C. 10.0 inches

D. 1.5 inches
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Correct Answer: A

QUESTION 4

School enroliments have fluctuated quite a bit in Oregon this year. The state department of education predicted there
would be 300,000 students enrolled state-wide. The enrollment ended up being 375,000.

How much of a percentage increase over the projected amount is this?
A. A 10% increase in the projected amount.
B. A 20% increase in the projected amount.
C. A 25% increase in the projected amount.
D. A 15% increase in the projected amount.

Correct Answer: C

QUESTION 5

In a manufacturing plant that produces new computers, a 0.15 probability exists that a computer will be defective.
If five computers are manufactured, what\\'s the probability that all of them will be defective?

A. 7.6

B. 0.60

C. 0.00042

D. 0.000076

Correct Answer: D
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